N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F %] [%]
X~ F . X F X X
[*] o - Q o [=] o
S0k s Sk £ £r
2 F o )
F s [ s S
10*F 1 g
E & E =
F . o kel
10°F 1" 10°F
10%F 1" 102F
F i 10*
10fF--:- 10F
1='" - .' - 1:" . . . i
0 s S T T
g BOBoB0B1—Cloba Tk EHiNGwSEPOTEOHIee REESo
o9 - T ooE--f--1- T
o IR R i S I SR recheedeser
0'—125—20—15—10 -5 0 5 10 15 20 25 O'—'25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 L B IR R LR 2
5] N 3] 5] 51
g . g . g g
C10°F plog o o3 ©
3 ER Zo g
I [ =
w0'F 10 310
3 3 10?
103 E_- -
[ 10
10% 3
10k : ; : : 1
a | IS NS NS NS e
g+
KRR TEEERERR
13
30 -30 -20 -10 0 0 20 30 -30 -20 -10 0 10 20 30 -30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


